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1. izdk’k dh fdj.kksa dk rjaxnS?;Z 
---------------------

 

ekbØkWu gksrk gSA 

 
1. The wavelength of the rays of light is 

............micron. 

(A) 0-1&0-4  (A) 0.1-0.4 

(B) 0-4&0-7  (B) 0.4-0.7 

(C) 0-7&1-4  (C) 0.7-1.4 

(D) 1-4&1-9  (D) 1.4-1.9 

2. ekulwu ds izkjEHk dh lkekU; frfFk gS % 
 

2. The normal date of onset of monsoon  

is : 

(A) twu dk izFke lIrkg  (A) 1st week of June 

(B) twu dk f}rh; lIrkg  (B)  2nd week of June 

(C) twu dk r`rh; lIrkg  (C)  3rd week of June 

(D) tqykbZ dk izFke lIrkg  (D)  1st week of July 

3. Qly dh j{kk ds fy, j{kk isfV;ksa dk mi;ksx 

fdlds fo#) fd;k tkrk gS \ 

 
3. Shelterbelts are used to protect crop 

against : 

(A) mPp ok;q osx  (A) High wind velocity 

(B) fuEu rkieku  (B)  Low temperature 

(C) mPp rkieku  (C)  High temperature 

(D) mPp lkis{k vknzZrk  (D)  High relative humidity 

4. og midj.k tks ijkofrZr y?kq rjax fofdj.k 

dks ekirk gS % 

 
4. The instrument measuring reflected short 

wave radiation is : 

(A) lkbØksehVj  (A) Psychrometer 

(B) ,YchMksehVj  (B)  Albedometer 

(C) ik;jsuksehVj  (C)  Pyranometer 

(D) ik;jsgsfy;ksehVj  (D)  Pyreheliometer 
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5. izdk’k dh xfr gS % 
 

5. The speed of light is : 

(A) 2 yk[k fdeh- izfr lsd.M  (A) 2 lakhs km per second 

(B) 3 yk[k fdeh- izfr lsd.M  (B)  3 lakhs km per second 

(C) 4 yk[k fdeh- izfr lsd.M  (C)  4 lakhs km per second 

(D) 5 yk[k fdeh- izfr lsd.M  (D)  5 lakhs km per second 

6. fdlh LFkku ij mPpre ,oa U;wure rkieku 

dk vUrj dgykrk gS % 

 
6. The difference between the maximum 

and minimum temperature at a place is 

called : 

(A) rkikUrj  (A) Range of temperature 

(B) nSfud rkikUrj  (B)  Daily range of temperature 

(C) ekfld rkikUrj  (C)  Monthly range of temperature 

(D) okf”kZd rkikUrj  (D)  Yearly range of temperature 

7. i`Foh dh lrg ls ijkofrZr dqy lkS;Z ÅtkZ 

yxHkx gksrh gS % 

 
7. Total solar energy reflected by earth’s 

surface is about : 

(A) 26%  (A) 26% 

(B)  16%  (B)  16% 

(C)  4%  (C)  4% 

(D)  36%  (D)  36% 

8. i`Foh vius {kSfrt v{k ij 
---------------------------------

 >qdh 

gqbZ gSA 

 
8. The earth is horizontally tilted on axis at 

................ . 

(A) 63.5°  (A) 63.5° 

(B)  66.5°  (B)  66.5° 

(C)  67.5°  (C)  67.5° 

(D)  68.5°  (D)  68.5° 
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9. lw;Z ls izR;{k lkSj fofdj.k dks ekius okyk 

;U= gS % 

 
9. The instrument  measuring direct solar 

radiation from sun is : 

(A) ik;jgsfy;ksehVj  (A) Pyrheliometer  

(B) dSEicsy LVªksd lu’kkbu fjdkWMZj  (B)  Campbell stroke sunshine recorder 

(C) ,YchMksehVj  (C)  Albedometer 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

10. ok;qe.Myh; ueh dks ekik tkrk  

gS % 

 
10. The atmospheric moisture is measured  

by : 

(A) ok”iekih }kjk  (A) Evaporimeter 

(B) gkbMªksehVj }kjk  (B)  Hydrometer 

(C) vknzZrkekih }kjk  (C)  Hygrometer 

(D) rkiekih }kjk  (D)  Thermometer 

11. ok;qe.Myh; nkc dh x.kuk 
---------------------------+ 

bdkb;ksa 

esa
 
dh tkrh gSA 

 
11. Atmospheric pressure is calculated in 

................... units. 

(A) lseh-  (A) cm 

(B) bap  (B)  inch 

(C) feyhckj  (C)  millibar 

(D) mi;qZDr lHkh  (D)  All of the above 



 

AG-205 ( 6 )  Set-C 

12. ,YdksgkWy dk fgekad gS % 
 

12. Freezing point of alcohol is : 

(A) – 100°C  (A) – 100°C 

(B)  – 120°C  (B)  – 120°C 

(C)  – 130°C  (C)  – 130°C 

(D)  – 140°C  (D)  – 140°C 

13. ufn;ksa esa ty ds osx dks Kkr djus ds fy, 

fdl fof/k dk mi;ksx fd;k tkrk gS \ 

 
13. Which method is used to find the velocity 

of water in rivers ? 

(A) Iyo fof/k  (A) Float method 

(B) os;j fof/k  (B)  Weir method 

(C) djsUV ehVj fof/k  (C)  Current meter method 

(D) jk’kuy fof/k  (D)  Rational method 

14. e`nk vijnu vf/kdre fdl izdkj ds 

vi/kkou esa gksrk gS \ 

 
14. Soil erosion in maximum occurs in which 

type of runoff ? 

(A) lfjrk cgko  (A) Stream flow 

(B) i`”Bh; vi/kkou  (B)  Surface runoff 

(C) mii`”Bh; vi/kkou  (C)  Subsurface runoff 

(D) v/kksHkkSfed ty cgko  (D)  Underground water flow 

15. vkf.od ukbVªkstu ijr 
----------------------

 dh Å¡pkbZ ij 

ik;h tkrh gSA 

 
15. Molecular nitrogen layer is found at the 

height of .................. . 

(A) 90&200 fdeh-  (A) 90–200 km 

(B) 125&700 fdeh-  (B)  125–700 km 

(C) 700&1100 fdeh-  (C)  700–1100 km 

(D) 1100&10000 fdeh-  (D)  1100–10000 km 
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16. fdl ok;qe.Myh; ijr dks feJ.k izns’k dgk 

tkrk gS \ 

 
16. Which atmospheric layer is called region 

of mixing ? 

(A) {kksHke.My  (A) Troposphere 

(B) lerkie.My  (B)  Stratosphere 

(C) vkstksue.My  (C)  Ozonosphere 

(D) e/;e.My  (D)  Mesosphere 

17. vk;ue.My dh ijr ok;qe.My esa 
-----------------

 

Å¡pkbZ ij ikbZ tkrh gSA 

 
17. Ionosphere layer is found in atmosphere 

at the height of ............... . 

(A) 30&60 fdeh-  (A) 30–60 km 

(B) 60&500 fdeh-  (B)  60–500 km 

(C) 60&90 fdeh-  (C)  60–90 km 

(D) 500&1100 fdeh-  (D)  500–1100 km 

18. ;kstuk vk;ksx ds vuqlkj Hkkjr esa fdrus d`f”k 

tyok;q {ks= gSa \ 

 
18. According to Planning Commission how 

many agro-climatic zones are in India ? 

(A) 9  (A) 9 

(B)  15  (B)  15 

(C)  18  (C)  18 

(D)  21  (D)  21 
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19. lk/kkj.k dksgjk dh n`’;rk 
-------------------- 

rd gksrh 

gSA 

 
19. The moderate fog has visibility  

upto .............. . 

(A) 330&100 ehVj  (A) 330–100 metres 

(B) 530&330 ehVj  (B)  530–330 metres 

(C) 1100&530 ehVj  (C)  1100–530 metres 

(D) 1100 ehVj ls vf/kd  (D)  < 1100 metres 

20. ok”ihdj.k dks izHkkfor djus okys dkjd gaS % 
 

20. Factors affecting the evaporation is :  

(A) iouksa dh ‘kfDr  (A) Force of the wind 

(B) ok;qe.My dk rkieku  (B)  Temperature of the atmosphere 

(C) vknzZrk  (C)  Humidity 

(D) nksuksa (A) vkSj (B)   (D)  Both (A) and (B) 

21. ok;qe.My /kjkry ls 
------------------------

 tyok”i izkIr 

djrk gSA 

 
21. Atmosphere receives water vapour from 

the surface of the earth is about .......... 

(A) 1-6 djksM+ Vu@lsd.M  (A) 1.6 crores tons/second 

(B) 1-3 djksM+ Vu@lsd.M  (B)  1.3 crores tons/second 

(C) 1-1 djksM+ Vu@lsd.M  (C)  1.1 crores tons/second 

(D) 16 djksM+ Vu@lsd.M  (D)  16 crores tons/second 

mailto:Vu@lsd.M
mailto:Vu@lsd.M
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22. /kjkry ds nh?kZ rjax fofdj.k }kjk lkSj ÅtkZ 

dk 
----------------------

 Hkkx izkIr gksrk gSA 

 
22. The surface receives ................ part of the 

solar energy from the long wave 

radiation. 

(A) 34%  (A) 34% 

(B)  36%  (B)  36% 

(C)  39%  (C)  39% 

(D)  42%  (D)  42% 

23. lw;Z ds dsUnz dk rkieku fdruk gksrk  

gS \ 

 
23. How much temperature is in the centre of 

the sun ? 

(A) 6000°C  (A) 6000°C 

(B) 115 yk[k °C   (B)  115 lakh°C 

(C) 165 yk[k °C  (C)  165 lakh°C 

(D) 195 yk[k °C  (D)  195 lakh°C 

24. 
----------------------

 o”kkZ mPp ,oa e/; v{kka’kksa esa d`f”k ds 

fy, fo’ks”k mi;ksxh gSA 

 
24. ................ rainfall is most suitable  

for agriculture in high and middle 

latitudes. 

(A) pØokrh;  (A) Cyclonic 

(B) laokgfud  (B)  Conventional 

(C) ioZrh;  (C)  Orographic 

(D) mi;qZDr lHkh  (D)  All of the above 
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25. vksyko`f”V esa vksyksa dk O;kl 
-------------------------

 ds e/; 

gksrk gSA 

 
25. In hailfall the diameter of hail varies  

from .............. . 

(A) 1&5 feeh-  (A) 1-5 mm 

(B) 5&10 feeh-  (B)  5-10 mm 

(C) 5&50 feeh-  (C)  5-50 mm 

(D) 20&50 feeh-  (D)  20-50 mm 

26. Hkkjr esa vf/kdre o”kkZ 
---------------------------- 

vkus ls 

gksrh gSA 

 
26. In India maximum rainfall occurs  

through : 

(A) nf{k.kh&if’peh ekulwu  (A) South-West monsoon 

(B) mŸkjh&iwohZ ekulwu  (B)  North-East monsoon 

(C) nf{k.k&iwoZ ekulwu  (C)  South-East monsoon 

(D) if’peh fo{kksHk  (D)  Western turbulence 

27. buesa ls dkSu&lk ,d vLopkfyr o”kkZekih  

gS \ 

 
27. Which one is a non-recording  

raingauge ? 

(A) rksyu ik= o”kkZekih  (A) Weighting bucket raingauge 

(B) lkbeUl o”kkZekih  (B)  Symones rainguage 

(C) mysVuk ik= o”kkZekih  (C)  Tipping bucket rainguage 

(D) Iyo izdkj o”kkZekih  (D)  Float type rainguage 
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28. ok;qe.My esa 28 fdeh- dh Å¡pkbZ ij ok;q Hkkj 

dk 
------------------------

 % Hkkx iSjksa esa gksrk gSA 

 
28. At an altitude of 28 km in the atmsophere 

......................... % of the air mass is in 

feet. 

(A) 80  (A) 80 

(B)  87  (B)  87 

(C)  95  (C)  95 

(D)  97  (D)  97 

29. /kzqoh; mPp ok;qnkc ls mi/kzqoh; fuEu ok;qnkc 

dh vksj pyus okyh iouksa dks 
--------------------------

 dgrs 

gSaA 

 
29. Winds moving from polar high  

pressure to subpolar low pressure are 

called ............... . 

(A) iNqvk iousa  (A) Westerlies 

(B) ekulwuh iousa  (B)  Monsoonic winds 

(C) /kzqoh; iousa  (C)  Polar winds 

(D) LFkkuh; iousa  (D)  Local winds 

30. fo’o ekSle foKku fnol euk;k tkrk  

gS % 

 
30. The World Meteorological Day is 

celebrated on : 

(A) 20 ekpZ dks  (A) 20th March 

(B) 21 ekpZ dks  (B)  21st March 

(C) 22 ekpZ dks  (C)  22nd March 

(D) 23 ekpZ dks  (D)  23rd March 
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31. vf/kd lkis{k vknzZrk ekuo ds LokLF; ds fy, 

---------------------
 gksrh gSA 

 
31. More relative humidity is .............. to 

human health. 

(A) ykHknk;d  (A) useful 

(B) gkfudkjd  (B)  harmful 

(C) egRoiw.kZ  (C)  important 

(D) egRoghu  (D)  useless 

32. tyok”i ds la?kfur gksus ls 
-----------------

 dk fuekZ.k 

gksrk gSA 

 
32. Condensation of water vapour  

creates : 

(A) cw¡nksa   (A) Drop 

(B) dksgjs  (B)  Fog 

(C) es?kksa  (C)  Clouds 

(D) ikys  (D)  Frost 

33. fo’o ekSle foKku laxBu fLFkr gS % 
 

33. The World Meteorological Organization 

(WMO) is situated at :  

(A) ubZ fnYyh esa  (A) New Delhi 

(B) f’keyk eas  (B)  Shimla 

(C) tsusok eas  (C)  Geneva 

(D) yUnu eas  (D)  London 

34. Hkkjrh; ekSle foKku foHkkx vfLrRo esa vk;k % 
 

34. The Indian Meteorological Department 

came into existence in : 

(A) 1775 esa  (A) 1775 

(B) 1875 eas  (B)  1875 

(C) 1957 eas  (C)  1957 

(D) 1975 eas  (D)  1975 
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35. fdlh fo’ks”k {ks= esa ekSle dh vkSlr fLFkfr 

dgykrh gS % 

 
35. The average condition of weather over a 

particular region is called : 

(A) tyok;q  (A) Climate 

(B) ekSle  (B)  Weather 

(C) ok;qe.My  (C)  Atmosphere 

(D) okrkoj.k  (D)  Environment 

36. fnu vkSj jkr i`Foh ds 
----------------------------- 

dk ifj.kke 

gSA 

 
36. Day and night are result of earth’s : 

(A) ifjØe.k  (A) Revolution 

(B) ?kw.kZu  (B)  Rotation 

(C) fofdj.k  (C)  Radiation 

(D) xq#Rokd”kZ.k  (D)  Gravitation 

37. vYidkyhu ekSle iwokZuqeku dh vof/k 
-------------------

ds fy, oS/k gksrh gSA 

 
37. The short range weather forecast is valid 

for a period of : 

(A) 1&3 fnu  (A) 1-3 days 

(B) 3&7 fnu  (B)  3-7 days 

(C) 10&15 fnu  (C)  10-15 days 

(D) 30 fnu ls vf/kd  (D)  > 30 days 

38. yEcs le; rd ekSle lEcU/kh lw[ks dk ifj.kke 

gS % 

 
38. Prolonged meteorological drought results 

in : 

(A) d`f”k lw[kk  (A) Agricultural drought 

(B) ekSleh lw[kk  (B)  Seasonal drought 

(C) ty foKkuh lw[kk  (C)  Hydrological drought 

(D) vkdfLed lw[kk  (D)  Contingent drought 
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39. og ijr ftlesa tyok”i vf/kd gksrh gS] 

dgykrh gS % 

 
39. The layer in which water vapour is more, 

is known as : 

(A) {kksHke.My  (A) Troposphere 

(B) lerkie.My  (B)  Stratosphere 

(C) vkstksue.My  (C)  Ozonosphere 

(D) vk;ue.My  (D)  Ionosphere 

40. dkSu&lh xSl ok;qe.My ds dqy vk;ru dk 

yxHkx 0.03% gS \ 

 
40. Which gas constitutes about 0.03% of 

total volume of atmosphere ? 

(A) vkWDlhtu  (A) Oxygen 

(B) gkbMªkstu  (B)  Hydrogen 

(C) dkcZu MkbvkWDlkbM  (C)  CO2 

(D) ukbVªkstu  (D)  Nitrogen 

41. ok;qe.My dh lcls Åijh irZ gS % 
 

41. The uppermost layer of atmosphere is : 

(A) lerkie.My  (A) Stratosphere 

(B) e/;e.My  (B)  Mesosphere 

(C) vk;ue.My  (C)  Ionosphere 

(D) cfgeZ.My  (D)  Thermosphere 

42. vkstksue.My dh Å¡pkbZ gS % 
 

42. The height of ozonosphere is from : 

(A) 18 30 fdeh-  (A) 18–30 km 

(B) 30 60 fdeh-  (B)  30–60 km 

(C) 60 90 fdeh-  (C)  60–90 km 

(D) 90 fdeh- ls vf/kd  (D)  Above 90 km 
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43. ok;qe.My dh dkSu&lh xSl dh Xykscy okfe±x 

esa izeq[k Hkwfedk gS \ 

 
43. Which gas of atmosphere has major role 

in global warming ? 

(A) vkstksu  (A) Ozone 

(B) ehFksu  (B)  Methane 

(C) dkcZu MkbvkWDlkbM  (C)  Carbon dioxide 

(D) ukbVªl vkWDlkbM  (D)  Nitrous oxide 

44. ,dleku rkieku okys LFkkuksa dks feykus okyh 

js[kk 
--------------------

 dgykrh gSA 

 
44. The line joining the places having equal 

temperature is called  ............... . 

(A) vkblksFkeZ  (A) Isotherms 

(B) vkblksckj  (B)  Isobars 

(C) vkblksgkbV  (C)  Isohyets 

(D) vkblksusEQ  (D)  Isonephs 

45. {kksHke.My esa rkieku dh lkekU; kl nj dk 

eku gS % 

 
45. In troposphere the value of normal lapse 

rate of temperature is : 

(A) 4.5°C  (A) 4.5°C 

(B)  6.5°C  (B)  6.5°C 

(C)  8.5°C  (C)  8.5°C 

(D)  12.5°C  (D)  12.5°C 
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46. ok;qe.Myh; nkc dh bdkbZ gS % 
 

46. The unit of atmospheric pressure is : 

(A) xzsu  (A) grain 

(B) fdeh-@?k.Vk  (B)  km/hour 

(C) feyhckj  (C)  millibar 

(D) ukWV  (D)  knot 

47. ok;qe.Myh; nkc dks fujUrj ekius okyk ;U= 

dgykrk gS % 

 
47. The instrument recording continuous 

atmospheric pressure is called : 

(A) FkeksZxzkQ  (A) Thermograph 

(B) cSjksxzkQ  (B)  Barograph 

(C) gkbMªksxzkQ  (C)  Hydrograph 

(D) gkbxzksxzkQ  (D)  Hygrograph 

48. miks”.k dfVcU/kh; mPp ls mi&/kzqoh; fuEu dh 

vksj gok ds >ksadksa ds :i esa tkuk tkrk gS % 

 
48. The wind blowing from subtropical high 

to sub-polar low is known as : 

(A) iNqvk iousa  (A) Westerlies 

(B) izfr&pØokr  (B)  Anticyclones 

(C) LFkkuh; iousa  (C)  Local winds 

(D) O;kikfjd iousa  (D)  Trade winds 

49. Hkkjrh; m”.k dfVcU/kh; ekSle foKku laLFkku 

fLFkr gS % 

 
49. The Indian Institute of Tropical 

Meteorology (IITM) is situated at : 

(A) iq.ks esa  (A) Pune 

(B) ubZ fnYyh eas  (B)  New Delhi 

(C) eqEcbZ eas  (C)  Mumbai 

(D) gSnjkckn eas  (D)  Hyderabad 

mailto:fdeh-@?k.Vk
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50. LVªSVksikWt 
-----------------------

 ds chp laØe.k isVh gSA 
 

50. Stratopause is the transition zone  

between ................. 

(A) {kksHke.My rFkk lerkie.My  (A) Troposphere and Strotosphere 

(B) vkstksue.My rFkk vk;ue.My  (B)  Ozonosphere and Ionosphere 

(C) lerkie.My rFkk e/;e.My  (C)  Stratosphere and Mesosphere 

(D) e/;e.My rFkk cfgeZ.My  (D)  Mesosphere and Thermosphere 

51. okrkoj.k dh fnu&izfrfnu dh HkkSfrd vOkLFkk 

dgykrh gS % 

 
51. The day to day physical state of 

atmosphere is called : 

(A) tyok;q  (A) Climate 

(B) ekSle  (B)  Weather 

(C) lw{e&tyok;q  (C)  Micro-climate 

(D) tSo&tyok;q  (D)  Bio-climate 

52. rqaxrkekih dk iz;ksx 
----------------

 ekius ds fy, 

fd;k tkrk gSA 

 
52. The altimeter used to measure ............. . 

(A) ok;qe.Myh; nkc  (A) Atmospheric pressure  

(B) Å¡pkbZ  (B)  Height 

(C) Å¡pkbZ rFkk ok;qe.Myh; nkc  (C)  Height and Atmospheric pressure 

(D) ok;q osx  (D)  Wind speed 

53. i`Foh vkSj lw;Z ds chp dh vkSlr nwjh gS % 
 

53. The average distance between earth and 

sun is : 

(A) 9-30 yk[k ehy  (A) 9.30 lakh miles 

(B) 9-13 yk[k ehy  (B)  9.13 lakh miles 

(C) 9-45 yk[k ehy  (C)  9.45 lakh miles 

(D) 9-57 yk[k ehy  (D)  9.57 lakh miles 
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54. ok;q dh fn’kk ekius okyk ;U= gS % 
 

54. The instrument measuring wind direction 

is : 

(A) ok;qosxekih  (A) Anemometer 

(B) okr lwpd  (B)  Wind vane 

(C) funzo cSjksehVj  (C)  Aneroid barometer 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

55. pØokr ds dsUnz esa nkc gksrk gS % 
 

55. Pressure at centre of cyclone is : 

(A) de  (A) Low 

(B) vf/kd  (B)  High 

(C) rVLFk  (C)  Neutral 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

56. i`Foh vkSj lw;Z ds chp dh fudVre nwjh gksrh 

gS % 

 
56. The distance between the earth and sun is 

nearest at : 

(A) milkSj  (A) Aphelion 

(B) vilkSj  (B)  Perihelion 

(C) v;ukar  (C)  Solstice 

(D) fo”kqo  (D)  Equinox 

57. ,slh o`f”V ftlesa o”kkZ ,oa fge ,d lkFk ik;k 

tkrk gS % 

 
57. Precipitation in term of rain and snow : 

(A) tyo`f”V  (A) Rainfall 

(B) fgeo`f”V  (B)  Snowfall 

(C) lfgety  (C)  Sleetfall 

(D) vksyko`f”V  (D)  Hailfall 
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58. ,dleku o”kkZ okys LFkkuksa dks feykus okyh 

js[kk dgykrh gS % 

 
58. The line joining the places having equal 

rainfall is known as : 

(A) vkblksFkeZ  (A) Isotherms 

(B) vkblksckj  (B)  Isobars 

(C) vkblksusQ  (C)  Isonephs 

(D) vkblksgkbV  (D)  Isohyets 

59. Qqgkj esa cw¡nksa dk O;kl gksrk gS % 
 

59. The diameter of drizzle drop is : 

(A) 0-5 feeh- ls de  (A) < 0.5 mm 

(B) 0-5&4-0 feeh-  (B)  0.5-4.0 mm 

(C) 5-0 feeh-  (C)  5.0 mm 

(D) 7-00 feeh- ls vf/kd  (D)  > 7.00 mm 

60. ty dk izkd`frd lzksr gS % 
 

60. The natural source of water is : 

(A) tyo`f”V  (A) Rainfall 

(B) fgeo`f”V  (B)  Snowfall 

(C) lfgety  (C)  Sleetfall 

(D) mi;qZDr lHkh  (D)  All of the above 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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